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No. of Questions : 200
Tyl Y HEET : 200

1
Time : 25 Hours Full Marks : 450

1
wAg ; 25 qU quTE : 450

Note : (1) Each questions carries 3 (three) marks. One mark will be
deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

TIF W7 3 () 3% F1 21 G 7 IO & 7Y qa o7a hreT
TR NAF STARA M H Wi I S

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest answere.

Ife THTuE dFfeawm IR TE IR F e udfta &, 1 Frvean 98 IH
= |
(3) This paper comprises of three Sections.

I T A7 @US I B

(4) Section-I is divided in two Parts. Candidate has to attempt either
50 questions of Part-A of English Language or 50 questions of
Part-B of Hindi Language.

|13 9 T fawws &1 qQandf w1 grr-ar % st 9w % 50w
F T grr-T S = OW 50 NN ¥ @ IW A B

(S} Sections I and Il are compulsory.
@UE 11 991 111 i #
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SECTION -1
Eue-1
Part - A
HET - 3

Instructions : Question Nos. 1 -5
Choose from the four alternatives the synonym of the word given :

01. Slothful :
(1) Harsh (2) Angry {3) Lazy (4} Peaceful

02. Aberrant :

(1) ©Odd (2} Quick (3) Efficient {4} Interesting
03. Motley :

(1) Active (2) Variegated (3) Sober (4) Fat
04. Mundane :

(1) Worldly (2) Crazy

(3) Futile (4) Unsatisfactory

05. Nonchalance
(1} Imbalance (2) Defiance
{3) Indifference (4) Unsatisfactory

Instructions : Questions Nos. 6-10

Select from the four alternatives the antonym of the word given :

06. Abominable :
(1) Ordinary (2) Agreeable (3) Cautious (4) Smart



07.

08.

09.

10.

11P/283/2

Fidelity :

(1) Disability (2) Disloyalty

(3) Insensitivity (4) Disinterestedness
Exonerate :

(1) Enjoy (2) Settle (3) Accuse (4) Restrict
Taciturn :

(1) Garrulous (2) Liberal

(3) Extravagant (4) Smart

Fraudulent :

(1) Contented (2) Sensible (3) Industrious (4) Genuine

Instruction : Question Nos, 11-14

11.

In each of the following questions, the first and the last parts of the
sentence or passage are numbered as 1 and 2 The rest is split into
four parts named 'P', 'Q', 'R', and 'S’ These four parts in different
combinations are given but they are not in their proper order. Find
out which of the four combinations is correct :

1. A great part of Arabia is desert :
P. The sand is so hot
Q. Here and there in the desert are springs of water
R. Here there is nothing but sand and rock
S. That you cannot walk over it with your bare feet in the daytime

2. That come from deep down under the ground.
(1) PQSR (2} RPSQ (3) QRSP (4) SQPR

3 P.T.O.
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12,

13.

14.

1. It seems nowadays a matter of universal desire that poverty should
be abolished

P. that will enable our race to reach a still higher civilization

Q. but to abolish honest, industrious, self-denying poverty would
be to destroy the soil

R. we should be quite willing to abolish haxury;
S. upon which mankind produces the virtues

2. Than it now possesses :
{1} QPRS (2) RQPS (3) RQSP ~{4) OSRP

1. I met a man limping in the street.

P. I asked him what had happened to him
Q. He had bruises on his face and hands
R. He said he met with an accident

'S. His clothes were torn

2. A motor-cycle rider knocked him down and speed away.
(1) RQPS (2) QSPR (3) SRPQ (4) RPSQ

1. Keats had read widely in Englis'. Literature especially poetry

P. until he read Chapman's translation of Homer's Illiad and as he
read

Q. he felt all the joy and wonder f{elt by an astronomer
R. he knew nothing of the poetic literature of ancient Greece
S. this was a revelation to him.

2. when he discovers a new star .
(1) RPSQ (2) QPRS (3) RQPS (4} QRPS
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Instructions : Question Nos. 15-25

15.

16.

17.

18.

19,

20.

The given sentence is divided into three parts numbered (1), {2) and
{3), one of these parts may contain an error. Select the erroneous
part. If you think there is no error in any part of the sentence, select
the option number {4) which indicates 'No error’ ;

He first wrote/the letter with ink and /then typed it carefully. No
error.

(1) (2) (3) (4)

I knew him / for the / last ten years. No error.

(1 (2) (3) (4)

He preferred /gray shirt/than white. No error.
©m @ 3) 4)

I reached/ the station much after/the train left. No error.

{1) (2) (3) {4)

The teacher asked /the student that whether he had done/

(1) (2)

his home assignment. No error.

{3} (4}

Had we known/ this earlier/ we would be careful. No error.

(1) (2) (3) (4)

7 P.T.O.
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21.

22.

23.

24,

25.

Many things have happened/since/ I had seen you. No error.

(1) (2) (3) (4)

The man who does not see that/the good of every living creature is
his good/

(1) (2)
he is a fool. No error.
(3) (4)

Due to inclement weather/there are/a few students present inlthe
class.

(1) (2) (3)

No error.

(4)
The secretary and treasurer of the association / was not present / .

(1) (2)

in the meeting. No error.

(3) (4)
I discussed the proposal/with him in details/on this morning.

(1) (2) (3)

No error.

(4)



11P/283/2

Instructions : Question no. 26

Which of the options is the correct indirect speech of the following

sentence ?

26.

The doctor asked the patient, "Have you eaten anything this morn-

ing?"

(1) The doctor asked the patient that whether he had eaten any-
thing that morning.

(2) The doctor asked the patient if he ate anything that morning

(3) The doctor asked the patient whether he had eaten anything
that morning

(4) The doctor asked the patient if he has eaten anything that morn-
ing

Instructions : Question Nos. 27-30

27.

28.

29.

30.

Choose the correct meaning of the idiom underlined in the sen-
tence.

Beware of that wolf in sheep's clothing.

(1) hypocrite  (2) timid (3) secretive (4) violent
Let us now bury the hatchet and work for the advancement of the
country.

(1) come together {2) be active

(3) cease fighting (4) laugh

The two brothers are at daggers drawn after their separation.

(1) in danger (2) hostile to each other
(3) verysad (4) confused

Alsa, ] am done for

(1) disappointed (2) ruined

{3) tired (4) helpless

9 P.T.0.
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Instructions : Question no. 31-32

31.

32.

33.

34.

35.

36.

37.

Choose from the four alternatives the correct substitute for the fol-
lowing expression :

A person who hates mankind :
(1) Misogynist - (2) Misanthrope
{3} Philanthropist (4} Hedonist

Domination by the male in society
(1) Masochism (2) Polyandry (3) Parsimony (4) Patriarchy

Find out the correct phrasal, verb for the underlined word :

Though zamidari has been abolished it persists in different forms in
many places in rural India. -

(1) put down (2) done away with
(3) given away (4) called off

Identify the part of speech of the word underlined :

[ feell much better after [ took the medicine.
(1} adjective  (2) adverb (3) preposition (4) conjuction

Identify the figure of speech used in the following sentence ;

The news was a dagger to his heart
(1) hyperbole (2) simile (3) metaphor (4) paradox

Which of the following is not a disyllabic word ?
(1) corner (2) hurled (3) detach (4) repeat

How many syllables are in the word "evaluation” ?
(1) three (2) four (3) five (4) six

10
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Select from the four alternatives the word which is correctly spelt :
(1) Acquiesece (2) Connoisseur
{31 Ogle (4} Circumlocation

Instructions : Question Nos. 39-45

39.

140.

41.

42.

43.

45.

Choose from the four alternatives the correct one to fill in the blank :

Lord Buddha .................... his throne and became a sanyas.
(1) abandoned (2] abdicated (3) abridged (4) abated

Lord Krishna's advice to Arjuna proved ............

(1) efficacious (2) effectual (3) effective (4) efficient
All the spectators could not help ............... at the antics of the clown
in the circus.

(1) laugh (2) laughing {(3) laughed (4) laughter
The usage of a word like 'thou' is ............. In common conversation.
(1) obsolete (2) prnmitive (3} colloguial (4) dormant
If the weather................. we shall play the match on Sunday.

(1) will permit (2) will be permitting

(3) permits. (4) 1is permitting

I cannot agree ............... what you say.

(1) with (2) to (3) on (4) about

We all sympathize ................. the poor, but do very little to help them.
(1) for (2) with (3) on 4 to

11 P.T.O.



11P/283/2

46. Choose the correct option that can be the passive voice of the sen-
tence :

~ All have known him tell lies.
(1) He has been known to tell lies.
(2) He has been known telling lies.
(3) He has been known tell lies.
(4} He has been known to telling lies.

Instructions for Question Nos. 47-50

Read the following passage carefully and answer the questions that
follow it by choosing the most appropriate option from the four alter-
natives numbered (1), (2), (3) and (4) :

The other day we heard someone smilingly refer to poets as dream-
ers. Now, it is accurate to refer to poets as dreamers, but is not dis-
cerning to infer, as this person did, that the dreams of poets have no
practical value beyond the realm of literary diversions. The truth is
that poets are just as practical as people who build bridges or look
into microscopes ; and just as close to reality and truth. Where they
differ from the logician and the scientist is in the temporal sense
alone ; they are ahead of their time, whereas logicians and scientist
are abreast of their time. We must not be so superficial that we fail to
discern the practicable-ness of dreams. Dreams are the sunrise stream-
ers heralding a new day of scientific progress, another forward surge.
Every forward step man takes in any field of life, is first taken along
the dreamy paths of imagination. Robert Fulton did not discover his
steamboat with full steam up, straining at a hawser at some Hudson
River dock : first he dreamed the steamboat, he and other dreamers,
and the scientific wisdom converted a picture in the mind into a real-
ity of steel and wood. The automobile was not dug out of the ground
like a nugget of gold; first men dreamed the automobile and after-

12
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ward, long afterward, the practical minded engineers caught up what
had been created by winging fantasy.

In what sense are poets dreamers ?
(1) The dreams of poets have no practical value.
(2) Poets' imagination goes beyond their time.
(3) Their dreams are for literary diversion.
(4) Through dreams poets escape from reality.

What do you understand by the phrase "sunrise streamers” ?
(1) Speedy-boat at sunrise

(2) The extension of rays from the ring of light around the sun
at its rise.

{3] Sunrays reflected on the stream at dawn.
(4) The sunlight at sunrise appearing like a stream.

49, What did Robert Fulton first do before discovering the steam boat ?

(1) He drew a design of the steam boat.
(2) He dreamt of the steam boat.
{3) He first made an anralytical study of a boat.

(4) He first made a study of a hawser at some Hudson River
dock.

50. What is a winging fantasy ?

(1) Fantasy emerging from one wing of a structure.
(2) The bird of a fairy tale

(3) Flight of imagination

(4) The bird that appears in a dream

13 P.T.O.
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51.

52.

53.

54.

55.

56.

57.

58.

SECTION -1
@Ue-1
Part-B
arT -~ &
A o A o hed € ;-
(1) W& @) W& (3) vl
3T T ©
(1) *@TH 2) IATUA
(3) YTHETH (4) IIAS
‘ot B QA w1 IR
{1y 3:{'*‘11 {2) a7 ¢ & (3) I +3

F&d U 37 @i o e €

(1) <3 2) ©, % (3) @, 9
2 9ol F Ul ¥ B A fIHR B R R

(1) wwH (2) dfa (3) uE
S A 1 I FHIT

(1} F=n (2) m (3) Torftran
3YE A T =LA Hif

(1) A (2) W (3) e
6 S I T HI

(1) STadd (2) T (3) Ia
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60.

61.

62.

63.

64.

65.

STYE 91 T 9Id RIS
1) = (2) SE (3}
Y[ IeE I TG HWT
(1) oweftarg

(3) Areiale

(2)
(4)

TS T 6 =9I Fieg
{1} 7R ¥ 9 9EA g & 4
(3) TR ¥ WA g o &

IS M H 997 H
(1) 9P YA
(3) wadt

{2)
(4)

(2)
(4)

ST A F FET FAGY

(1) wifee 3R shew %1 =iy Gey 2
(2) e 3R sheq &1 =X doiyg 2
(3) wifsca ¥R e 1 A g ?
4) wifed 3iR Had o g gey &

[ A=Y & =99 i ¢
(1) wEr % T T4, 3T A 31 (2)
(3) WMEM % A & W & (4)

6 SR 19U HifIT
(1) SIS 3 e S 39 2
(3) 3T A TgA H a7r¥T B

{2)
(4)
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AY (4) AHA

anffars
e

TR ® G- 9HE e S 9
TR Y 9{ ot o 4t

YR B 921G
39T AT WaEE

WA F 3w W 2
YA, % 3w T 2

S 3 T F STETEH 2
S el g3 H 3T 2
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66. ﬁiﬂﬁﬁg@ﬁﬂﬁﬁ@nmwﬁm:

67.
68.
69.

70.

71.
72.
73.
74.

75.

(1) g, T 2)
(3) TE, 94 (4)
‘ST, GedH ®Y B

(1) W (2) (3)
TUF TR BT w9 R

(1) T @ TEE (3
‘S, W T w9 R

(1) e (2) SgEE (3)
TR UG S € R |
(1) a@.w‘t (2)
(3) wfefera (4)
‘g’ Wt 1 WEarEe afgdd €9 €
(1) T (2) A (3)

g s o afiga y ‘o AN A L -

(1) 3= (2) adm (3)

‘s’ @ Terdwor vg W 2
(1)  AEHS 2) fuE (3)

‘ehrere’ I T TR T R
(1) shefew (o) Wefds  (3)

& Wk ‘G i vaE T e ?
(1) T (2) TeamE (3)
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83.
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& T fawen Fawa’ &1 a1 aaE A e ?

(1) < 99 & (2) e

) wigd Hfed (4) fowgs®

‘Tsar F fauwdmeds v 2

(1) oM =1 2y = (3) A==t (4) SATT=™
‘Feu F faqdaies W ©

(1) fa=x (2) TR (3) Tr=mue (4) U1
‘o o faadide At R

(1) foera 2) T (3) Y (4) farreg
e i I Dl

(1) 99 3R 78 (2) T I TS

(3) S W TEUTRIS | (4) TA A& T8

T iR GEn & o9 A

(1) Sisgean (2) WEEA  (3) AN (4) Tiveget
foraent oem 7 = ME B

(1) frmw (2) T (3) I (4) emenfeE
‘g SR M@ — Wamg § o) T AFOT F W AR
(1) (2} HIH (3) fagmor (4) T=H
FH-T1 999 9 2

(1) g (2) g

(3) Gl A gE & (4) 4 g fem
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85.

86.

87.

88.

89.

90.
91.
92.

93.

HH-91 A T R -
(1) e, 3w et = e W &) (2)
(3) i, S AR T W WA B (4)

- R W

e, IO SR TE T S R
e, 3w N = wWhe S §

(1) T JEAH & (2) FUE FE A A FW W
(3) FUA FH T T (4) P9I I AT W
HH-F T T R | |

(1) =3 g ik Afesi faamn (2) Wi gu 3k Afewr faens
(3) W Y gu iR Afeai faeme (4) WA gu 3 Afeai faend
HH-LT T WE ©

(1) ¢, 9 3R & wuh (2) ™, 78 AR H s

(3) M, 9% 3T T e (4) T, 98 IR H S
ﬁ%w&mﬂﬁ%:

(1) IUH 9R gl B & (2) IHH IR | T BIE &
(3) SEH IR & W SIS N (4) IHH IR qF BIS &N
e T S0 @ w1 W §EE g

(1) ofis= (2) RS (3) qEerd (4) =
P+ 0 | dfags wse 9

(1) TR 2) fRm (3) Frdm 4y R
‘Torthet’ T i W © -

(1) wHaRY (2 &1 (3) =l W& (4) TRy
‘T’ fadmur & aie HiA-a1 faers Wa w8 .

(1) 9 (2) oFERR (3)
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94. TROEH H 394 :
(1) HXOT [ |ALE] (2) WA TG S
(3) WROT &Rl AU 4) NI F FHe

95, ‘TET F Ugel A 1 fa¥IvUl Iugeh AT
(1) B (2) e (3) T (4) @R

96, ‘it I w1 a1 ®
(1) g s 2) =% g famm
(3) Tt afsem = ofe @he (4) g 9 fadger o

97, widl Ioet 1 94 ?

(1) SF % TER ISeAl (2) W& B

(3) ITHH FR TG (4) AN B
98, “YRA W AT ... ... .. Tpfq w76 2 39 9 § v 5 gfd fea

I 9 A

(1) HHIEA (2) ongfs  (3) WEH (4) WETHEA
99, ‘%I ¥ Te ¥ < = wdt aref 7

(1) He =i s fEam (2) $¢ F 4g W It M

(3) U WA (4) oga drel

100. ‘SR &I il A sWEX H W o1 €
(1) i @ (2) T = o e
(3) 39N STeH! B wH Wew™ a4 (4) Tl @ S | e
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SECTION - 11
G rs-1I

101. HX=b+c-2a;Y=c+a~-2bandZ=a+b-2c. Then:

g€ X=b+c-2a:Y=c+a—-2bAAMZ=a+b-2c B ;
(1} X3+ Y8+ 2Z°=XYZ (2) X3+ Y®+Z%=3XYZ
(38) X®+Y3+2Z3=-3XYZ (4) X3+Y3+2Z3=0

a "1— h % [ —1—
102.The value of [3‘-lT ° x[x—] x[-’-‘«—] is :
x"® X X

iy 1 1

b Ve €Yo
xi—] F1 | B

a
LY

(1 1 @ o 3) -1 (4) 2
| X y_ z (ax-by)
103.1f 2 b o Thevalueof (a+b)(x-y) 18°
x_y._z ax-by .
a b o0 @i y) WM
1y -1 2} © 3} 2 4y 1

a 4 4) [ 2p-a
5 5 » The vaiue of [;]*[m] is :
“taa |Gy wo .

3 8
L = @ = @ 2 4 1
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1 3 5 997
2-=2-=|I2-=}eririnns 2- .
105.The value of[ 3][ 5][ 7] [ 999] is:

Y5 mm,

3 5 999

[1001] [999} [1001]
3 1001 999

0 [ssg

(3.73) +(2.27)°

3.73x3.73-2.27%x3.73+2.27%2.27 ="

106.The value of

(3.73)° +(2.27)°
3.73%3.73-2.27%x3.73+2,27x 2,27
(1) 8.60 (2) 6.00 (3) 8.00 (4) 1.46

I AH g |

27 28 27

L 2 @ 1 @ 3 ) —5g

108.If and 2= ((JJ: 1) ((JJE: +11}] The value of % is :

(J‘+1) (5-1) . {a®+ab+b?)
RS- (J§+1)?h(a “ab+bY) F1 A B :

{4)

ol w
w|en

3
@ 3 (3)

Wl

(1)
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11P/283/2

109.ifa :b=57andb:c=6:11Thena:b:cis:

A a :b=57TMb:c=6:11Wa:b:c '@"‘H
(1) 55:77:66  (2) 30:42:77 (3) 35:49:77  (4) 576

110. The number (10" - 1) is divisible by 11 for :

(1) allvalues ofn (2) odd values of n

(3) even values of n (4) nis multiple of 11
@& (107 - 1), 11 9 qoi &9 fasnfea anf -

(1) n & Yo% A4 & fag (2) n & fawn 9@ % faq
(3) n % 9" IH *F fa (4) n,11 W TP =

111. The smallest number which is divisible by 12,15 and 20 and is per-
fect square is :

%gﬁ@@aﬁw,@@aﬁﬁf 12, 15 941 20 X ¥ fawfsa A, =t
el I

(1) 900 (2) 1600 (3) 400 (4) 3600

112, The H.C.F. and L.C.M of two numbers is 44 and 264 respectively. If
the first number is divided by 2, the quotient is 44, other number is :

firdl & FEmsl i Ten Wo IR EAH Fo HAW: 44 AR 264 T a1 I
el W ] 2 § 9 2 W IR 44 B @) 0 e w

(1) 66 (2) 264 (3) 88 (4) 132

2 1
—_ JEE— ‘p
113. What percent of - 18 o ¢

2 1
= 1 T sfemr o g2
(1) 25% (2) 20% (3) 15% (4) 10%

22
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The income of a broker remains unchanged though the rate of com-
mission is increased form 4% to 5% the percentage slump in the
business is : '

Ife FHITH FT X 4% FGH 5%HA R 4 fFd a9 1 Fo FHE
sraftafda e &1 9 SR § W) & g R
(1) 20% (2) 10% 3) 8% (4} 15%

The length of rectangle is twice to its breadth, if its length increased
by 10% and its breadth is decreased by 10%. The area of new rect-
angle is :

(1) remain unchanged (2) increased by 1%

(3} decreased by 1% (4) decreased by 2%

o fort T F T S T el W gl & 9 10% 9 3fs A
ST o IEFT =S H 10% H HH H I A SHF dAA H

(1) = 9iade &F e 2) 1%t gfg Bt
(3) 1% &1 F=H gt (4) 2% FH AT
5% income of A is equal to 15% income of B and 10 % income of B is

equal to 20% income of C. If income of C is Rs. 2000, the total income
of A,B,C, is:
(1) Rs 20000 (2) Rs 18000 (3) Rs 14000 (4) Rs 60000

A F 5% 3T B F 15% 34 & FER 3 A B FI 39 & 10 % C I -
AT F1 20% & S 71 Afe-C 3T o 2000 T A A,B,C H 3M H
?ﬁﬂ'eﬁ‘ﬂ:

(1) 20000%. (2) 18000%. (3) 14000%. (4] 60000 %.

117.A man goes to a place at the rate of 4km/h. He comes back on a

bicycle at 16km/h. His average speed for the entire journey is :
(1} 10 Km/h (2) 8.5 Km/h (3) 6.4 Km/h (4) S Km/h
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T e et T W 4 fed e # e § o @ iR 98 |
IEORfEd ¥ 16 fram. e # ue ¥ 9Ig o ) @ A § Su
aftea et R

(1) 10 feen R == (2) 8.5 foal H. /b
(3) 6.4 fpai (4) 5 fomatt /e

118.The average weight of three men A,B,C, is 84 kg. Another man D
joins the group and the average weight becomes 80 kg. Another man
E whose weight is 3 kg more than that of D replaces A then average
weight of B,C,D and E becomes 79 kg. Then the weight of A is :

(1) 70kg ° (2) 72 kg (3) 80 kg (4) 75 kg

AB 3t ¢ & 3iiga R 84 farelum 81 afe D W & wfew g @ o
staa Wk 80 frelmm B o &1 afe E fSe ¥R D & R 9 3 feamm
e €, A T e T ¥ wEle € ® @ B,C,D,E % 3ia WR 79
R ) S R A W AR §

(1) 70 feneimm (2) 72 fereimmm
(3) 80 feretmm (4) 75 fremm

119.If a carton containing a dozen mirrors is dropped which of the follow-
ing cannot be the ratio of broken mirrors to unbroken mirrors :

wF fesd ¥ Y Y W 39 1@ & o5 e A 9 o i T2 W g

T3 U a1 99 g I 1 9 R eI 8l Wehall ?

(1) 3:2 2} 31 (3) 2:1 4) 7:5
120.A,B and C can do a piece of work in 20, 25 and 30 days respecﬁvcly.

They undertook the work together for Rs. 2220. The share of A ex-
ceeds that of B by : :

(1} Rs 300 (2) Rs 120  (3) Rs. 180 (4) Rs. 240
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A,B ¥ C TRt M H AW 20, 25 AR 30 T § U 9 gHa 1 A
T Freret R HM ® . 2220 § T G T A B B%ﬁ?@@
foran arferer € 2

(1) 300 %o (2) 120%0  (3) 180 %o (4) 240 %o

A and B enter into partnership investing Rs. 12000 and Rs. 16000
respectively after 8 months C joins them with a capital of Rs. 15000.
The share of C in a profit of Rs. 45600 after 2 years will be;

(1) Rs.21200 (2) Rs 19200 (3) Rs. 14400 (4) Rs. 12000

A #t B fadl =R # wHW: %, 20,000 3R F. 16,000 TME wfwfed
W 1 8 AR e ¢ i B, 15,000 SR qEfeR B Sl 1 A & oY e
e T %, 45,600 B @ F C fawar 9

(1) 21200%0 (2) 19200%c (3) 14400%o  (4) 12000 Fo

1 1 1

A, B & C enter in a business in the proportion of - 3'2'5 A with-

draws his half of the capital at the end of 4 months. Out of a total
annual profit of Rs. 847, A's Share is :

(1} Rs 412 (2) Rs 315 (3) Rs 252 (4) Rs 280

1

feell = # A, B, ¢ fewied e 3 Z ga;aqgcrmﬂ%ﬁm%

& A g IS T s e A 21 @A % ot N A €. 847 W
o B E A A F T A

(1) 4127%. (2} 315%.  (3) 252%. (4) 280°7F.

If A purchased 11 books for Rs 10 and sold all the books at the rate
of 10 books for Rs. 11, the profit percentage is :

e A T 10 H 11 % GO R 9ft Tad %, 11 § 10 K% &} L |
9 A1 &1 o F1 A9 S

(1) 10% 2) 21% (3) 11% (4) 100%
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124.A man sold 20 articles for Rs. 60 and gained 20%. How many articles
did he buy for Rs. 60 ?
TF ACH 60 F. H 20 T R 20% H A U 21 a8 60 F. T ot
TEA Glie a1 ?
(1) 22 2) 25 3) 24 4) 27

125.The marked price of an article is 10% higher than its cost price. A
discount of 10% is given on the market price. In this kind of sale, the

seller :
(1) Bears no loss or gain (2) Gains 1%
(3) Looses 2% (4} Looses 1%

TF o 1 il oo 3TH A 4o W 10% NHF &1 39 W 10% Fil
T I W ITH a1 B

(1y i " q BIA (2) 1% °9

(3) 2% @I (4) 1% =7

26.Three men and four boys do a piece of work in eight days while four
men and eight boys finish it in six days. Two men & four boys will
finish 1t 1 :

(1) 12 days (2) 10days (3) 9days (4) 14 days

3 qo% 3R uR o UF HH 8 i # IR € 1 W FM H 4 TEY IR 8

T 6 feT W G0 F THA 81 TV 2909 3R 4 T B o W F8

(1) 12f@ ) 1of (3) 9feA (4) 14 f&=
127.A,B & C together earn Rs 150 per day, while A& C together earn Rs

94 per day. B & C together earn Rs 76 per day. The daily earning of

Cis:

(1) Rs20 (2) Rs60 (3) Rs 56 (4) Rs 34
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A,B, C Theret ufafeq 150 &+ 2, Saf® A a1 c fafed 94 %, 3R B
991 ¢ Safed 76 & FEE S C $ uiafeT 1 o9 2l

(1) 20%o (2) 60 %o (3) 56%o0 (4) 34 %o

128.Ram travels certain distance at 3 km/hr & reach 15 minutes late. If
he travels at 4 km/hr he reaches 15 minutes earlier. The distance
travelled by him is :

(1) 4.5km (2) 7.2km (3) 12km (4) 6 km

gfe v T ffd g 3 farcilo Ho/der 1 i 9 & wxa @ 15 fire foam
Y wgadl afe et gt 4 fFello Hosser ot g J 99 3@ @1 15 faee e
TETAN SHF R T F S Al g8 ®

(1) 4.5 fFaioHio (2) 7.2 f&atiodto
(3) 12 fEetiomio (4) 6 femetotiio

129.A train travelling at 36 km/hr completely crosses another train of
half its length coming from opposite direction at 54 km/hr in 12
seconds. If it also passes a railway platform in 90 seconds, the length
of the platform is : '

(1) 560 m (2) 620m  (3) 700m (4) 750 m

T 37 faa A 36 fElo/sia 2, HTH el ot 29, w1 fop faudla famn
Y 54 frfto/dar &t d | o1 W&, A 12 Ve § TR = 9@ 81 I 39
F TF DTHH F IR 4§ 90 V¥ oW B 91 eHH i onard §

(1) 560 He (2) 620%0  (3) 700 Ho (4) 750 Hio
130.A motor boat whose speed is 15 km/hr in still water goes 30 km

down the stream and comes back in total time of 4.5 hrs. The speed
of the stream is :

(1) Skm/hr (2) 6km/hr (3) 8km/hr (4) 9 km/hr
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- e A 5 R o A T 15 feale e ¥ HaT 31 5@ A4 i uw
#1 fewm # 30 fpclloo W 3R arv® ™ | FoT 4.5 I O &1 T B
G AR

(1) 5 fawcilotio/sar (2) 6 fpatoiossar
(3) 8 faheitoTio/sar - (4) 9 fReNotiossier

131. A sector is cut off from a circle of radius 21 cms. The angle of the
sector is 120 degree at the centre. The area of the sector is :

(1} 840 c¢m? (2) 462cm? (3) 441 cm? (4) 360 cm?
TF o9 F G S T F g W 120° H FI0 S 2, HEF g9
aTer &Y forn s 21 4fe g9 &) e 21 98 dle 1 O T #1 Awd
2

(1) 840 ¥ o (2) 462 ¥ o

(3) 441 3H #o | (4) 260 9 o

132.The volume of a rectangular box whose area of 3 adjacent faces are 50
m?, 30 m?2, 20 m? is :
U AEAFR GGF S HH T g TEl H &Fha 50 W o, 30 H
Tho T4 20 VA | o B A SHHT 3T T

150

(1} 15043 m? 2 7w
100

@) Fom (4) 100V3m®

133.A rectangular paper is 22 c¢cm long and 12 cm wide. A cylinder is
formed by rolling the paper along its length. The volume of the cylin-
der is :

(1} 252 cm? (2) 231cm® (3) 154 cm?® (4) 168 cm?®
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T SAIEEHR FIS F e & T 22 § do au Hew 12 ¥ o 7
TH THE B ASH Ao w1 B G 710 21 Al Ao B HAR FO F A
% S B T S S AEET &

(1) 252 9 Hos (2) 231 Y Hod
(3) 154 T Hod 4) 168 ¥l Hod

1
134.Twenty men complete — rd of a piece of work in 20 days. How many

135.

3

2 .
more men should be employed to finish the balance Erd work in 25

more days ?

zowﬁﬁﬁiﬂmwé T fE 20 # @ o TR &1 99 W W 25

¥ 0 0 % fou fra wafs ok @ il o |
(1) 10 2) 12 (3) 15 (4) 20

Twg vessels A & B contain milk and water in the ratio 5: 3 and 2 : 3.
When these two mixtures are mixed to form a new mixture contain-
ing half milk and half water. They must be taken in a ratio :

S o A 9 B gg iR url 5: 37 2 : 3 F o9 H 2 3 s
&1 e 31U § fieman g 6 73 fasor & g9 o gl F1 STgM ofre-
110 I

(1} 4:5 (2) 7:3 (3) 3:5 @) 2:5

Directions of the gquestions 136-138:

In each of the following questions a series is being given where one
term is missing. You have to find the missing term from the given
alternatives.

29 P.T.O.



11P/283/2

w9+ 136 ¥ 138 & foru fagm fador :
e ge § U vl @ T @) e % ug fagqa 21 2 gu e W 9
foegw wg 1 g RIS

136.2,5, 10 oo, , 26

(1) 15 (2) 17 3) 16 (4) 18
137 oo, , 7,26, 63, 124

{11 1 (2) 2 (3) O (4) 3

138.8,7, 11, 12, 14, 17, 17,22 i

(1} 20 (2) 22 (3) 24 4) 27
Direction 139 -140 : Find the wrong number in each of the sequence :
71 : 139 -140 TR TSR T TAT HEAT AT HHAQ

139.22, 33, 66, 99, 121, 279, 594

(1} 33 (2) 121 (3) 99 (4) 279

140.2, 9, 28, 65, 126, 216, 344

(1) 2 (2) 28 (3) 216 (4) 344
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Study ii:e following table carefully and answer the questions given
below from 141-145

Freforfiar WO T 3Teaa wiTT 31 UoT 141-145 &1 T 0T

Year Gross Profit before Interest Rs Depreciation Net Profit
turnover interest& in Lakh Rs in Lakh Rs. in Lakh
Rs in Jakh depreciation
Rs in lakh
1980-81 1380.00 380.92 300.25 69.90 10.67
1981-82 1401.00 404.98 315.40 71.12 18.46
1982-83 1540.00 520.03 390.85 80.02 4916
1983-84 2112.00 399.01 444.44 88.88 065.69
1984-85 2520.00 811.01 505.52 91.91 212.78
1985-86 2758.99 920.00 600.20 99.00 220.80

141. During which year did the 'Net Profit' exceed Rs 1 crore for the first
time ?

firg 9 TEEh IR g Y T BT T 9 efuE N
(1) 1985-86  (2) 1984-85 (3) 1983-84 (4) 1982-83

14Z, During which year was the 'Gross Turnover' closest to thrice the 'Profit
before Interest & Depreciation ?

&0 Y F T, BT T oA & e e R dh €
(1) 1984-85  (2) 1983-84 (3) 1982-83  (4) 1985-86

143. During which year did the 'Net Profit’ form the highest proportion of
the Profit before Interest and Depreciation' ?

form o g oy oiR g A A F qd A9 & SO v €
(1) 1984-85  (2) 1983-84 (3) 1982-83  (4) 1981-82
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144, Which of the following registered the lowest increase in terms of ru-

pees from the year 1984-85 to the year 1985-86:

(1} Gross Turnover

(2) Profit before interest & depreciation

(3} Depreciation

{4) Interest

frrafafaa & foae A T # 1984-85 & WUH 1985-86 Fefad
IR g

(1) Fa ™ (2) BIE ag1 &S o g9 od
(3) =wH (4) =

145.The 'Gross Turnover' for 1982-83 is about what % of the 'Gross Turn-
over' for 1984-85 7

aY 1982-83 T FT1 3G, TY 1984-85 o Fict 3714 o1 amwy fepdt wferera
2.

(1) 61 (2) 163 (3) 0.61 (4) 39

Study the graph carefully and answer the questions 146-150 given

below it :

Frafafas Yartes s T ST a9 W9 146-150 i 3T )
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146.In which year did the imports register highest increase over its pre-
ceding year ?

@ ¥ F gy feg af o f Swar afa g @
(1) 1973 (2) 1974 (3) 1982 (4) 1975

147.The imports in 1976 was approximately how many times that of the
year 1971 ?

a4 1976 ¥ @ o 1971 % @@ AN e TR
(1} 0.31 2) 1.68 @) 2.41 (4) 3.22
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148.What 1s the ratio of the years which have above average imports to
those which have below average imports ?

3id & SR 7AW 9 a6 agqr oed ¥ A9 HE I Fuf 1 R
AU 2 ?
(1) 3:5 (2) 2:6 (3) 83 (4) 3:8

149.The increase in imports in 1982 was what % of the imports in 1981 ?

79 1982 F W ¥ gfg 1981 it W@ qor § fera wfavd @ 2
(1) 25 2) S (3) 125 (4) 80

150.The imports in 1974 is approx. What % of the average imports for the
given years ?

9 1974 ¥ 2w, fed gu ool & fq swam fea gfowg @ 2
(1) 125 (2) 115 (3) 190 (4) 85
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SECTION - III

{\qUg-I11
151.In which state is Vivekanand Rock situated ?
(1) Kerala (2) West Bengal (3) Karnataka (4} Tamil Nadu

fa@r= U fora a0 T orafieg £ 2
(1) oA (2) UMW ETMH (3) ®HAlRH (4) qfEHg

152.Which is the largest sweet water lake in India ?
(1} Sambhar lake (2) Dal lake
(3) Wular lake (4) Govind Sagar

TRg AW T Hl wew sl e w2 7
(1) R (2 TAHT (3) TR @A (4) MEE WR

153.Golan Heights is situated in which country ?

(1) Syria (2) Israel (3) Palestine (4) Lebanon

e w5eH g 3w o eafeE § 7

(1) Hfen (2) TREA (3) TRerai (4) A
154.Who of the following gave the Black Hole theory ?

(1) C.V.RRaman (2) H.J. Bhabha

(3) S. Chandrasekhar (4) H.G. Khurana

frefafea # 9 fegs w1 — fog fagra sfaafsa e 2

(1) . &t T - (2) B S e

(3) TH. I (4) TN G

155. Who is the author of 'Gita Govind' ?
(1) Jayadev (2) Jayashi (3) Dharmapal {4} Kalidas

ﬁiﬂiﬁ%ﬁ:’%é@%ﬂf{%?
(1) wEeH (2) S (3) = (4) wifEm
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1566. Who founded Vikramshila university ?
(1) Dharma pal {(2) Devpal (3) Mahipal (4) Shishupal

fasmafien fagfaaa =t T feam st ?
(1) aurs (2) <adrE (3) wiEu (4) femrarer

157.Who is known as "Hazardinari" in Indian history ?
(1) Nushrat Khan (2) Mahawat Khan
(3) Malik Kafur (4) Bairam Khan

mﬁqsﬁ%’mﬁ“mﬂ‘qﬁﬂﬁ”%wﬁﬁqmw%?
(1) WPE@E  (2) TWeEd @ (3) U wYR (4) W @

158. Who was the first Governor General of India ?

(1) Lord William Bentick (2) Lard Charles Metcalf
(3) Lord Hardinge (4) Lord Dalhousie
AR 61 JIH TR TR/ A o1 ?
(1) <€ fafeem afes 2) arg acd AaHE
[3) e gRfEn (4) e TS
159; Who ¢f the following did not belong to Brahma Samaj ?
(1) Raja Ram Mohan Roy (2) Davender Nath Tagore
(3) Keshav Chandra Sen (4) Rabindra Nath Tagore
frfafaa ¥ 9 @9 s T A 2 T 9 2
(1) TS T e @ (2) TAF Y TR
(3) Y TFE WA (4) sy R
160.Who is the Minister of sports in Government of India ?
(1) Ajay Makan (2) Anand Sharma
(3) Vyalar Ravi (4) 8. Jaipal Reddy
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IR THR T Qe w3l A 2 7
(1) 371G HIHA (2) SR u
(3) &R Ua (4) TH, IO G

161. Who was the first viceroy of India ?

(1) Lord Dalhousie (2) Lord Canning

{3} Lord Mayo {4) Lord Dufferin

AT % WoH SR HiA S 2

(1) oS semmist (2) € H

(3) oS AW (4) S THH
162.Who of the following was not associated with Swaraj Party ?

(1} C.R. Das (2) Motilal Nehru

(3) Baliabh Bhai Patel (4} Bitthal Bhai Patel

frafafas ¥ @ 1 & @ o8 8 98 =i g 2

(1) . W, <™ (2) W A RE

(3) ToOH W8 TeH (4) Toger 9% wF
163.Who of the following was not a liberal ?

(1) B.G. Tilak (2} S.N. Banerjee

(3) Ferozeshah Mehta (4) Madan Mohan Malviya

frefafga § @ &9 SeRam & & ?

(1) e R oo (2) G g o=

(3) frisene AEm (4) TRA HiEd WoEd
164. Who of the following was not a member of Cabinet Mission ?

(1) Stafford Cripps (2) Pathick Lawrence

(3) A.V. Alexander (4) Sir John Simon
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frfefas & § $9 Hfare e & gow =g & 2
(1) ®rrE fw (2) feres @Y
(3) W ST (4) T SH §EEA

165.How many fundamental duties are these in the constitution of India?
G % Hfaart ¥ Hifds wer #t den fea € ?
(1) 8 (2) 9 (3) 10 4) 11

166.Who was the editor of Young India’ ?

(1) M.K. Gandhi (2) J.L. Nehru

(3) Rajendra Prasad (4) Aravind Ghosh
o e & RS w2 |

(1) W&veA e (2) SIAEIARA R
(3) ToI= TR (4) aRfae O

167."Do or Die" who gave this call ?
(1) M.K. Gandhi{2) S.C.Bose (3) J.L. Nehru (4) B.G. Tilak
“F0 A AU AT AR feun fewm e 2
(1) W& e (2) QAW I 99
(3) TR T TEE (4) e MR fefersh

168.Who is the author of ‘Satyarth Prakash’?

{}) Swami Shraddhanand (2) Swami Dayanand

{3) Smt. Annic Beasant (4) Madan Mohan Malviya
“Temed s’ Ed® i § 2

(1) @ ggHg (2) @l arg

(3) ST TR SE (4) WA HigT AEEE
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169.Who was the constitutional Advisor of the constituent Assembly of

India ?

(1) Sir B.N. Rao (2) Dr. K. M. Munshi

(3) Dr.B. R. Ambedkar {(4) Patanjali Shastri

TRa I GlTU Gl % TR TAEER B A 2

(1) W& 1@ (2) 1. %. wH. HIh

(3) . F. IR, FTESH (4) ST W
170.When was Dr. Rajendra Prasad elected as the first President of India?

(1) 24 January 1950 (2} 26 January 1950

(3) 26 November 1949 (4) 4 March 1952

Slo T THIE YRA & 99W T8 %d 94 T ?

(1) 24 SF&Q 1950 (2) 26 A 1950

(3) 26 TR 1949 (4) 4 TE 1952

171.1In which state is Jaitapur located ?
(1) Karnataka (2) Maharashtra
(3) Madhya Pradesh (4) Gujarat

SR ford T B arafted € 2
(1) HAlZEw (2) TRNY (3) T AW (4) TERE@

172.Who is Julian Assange ? _
(1) A noted poet (2) Wikileaks Founder

(3) Head of swiss Federal Bank (4) German President
SferE S| W § 2

(1) & faeama &fa (2) foeniferad =1 wus
(3) i g % & am (4) R Tl
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1'73.Pandit Shiv Kumar Sharma is associated with which one of the musi-
cal instruments ?

(1) Flute (2} Sarod {3) Santoor {4) Veena

do Ty FuR ot Freifeiga ¥ A frg @ R A TR ¥ 2

(1) argd (2) ¥R (3) WX (4) <o
174.Who is the chairman of Nasscom ?

(1) Rajendra S. Pawar (2) Harsh Manglik

(3) N. Chandrasakaran (4) A.K. Dutt

THHH F AT B § ?

(1) . TS TH TaR (2) w9 mife

(@) T OIS (4) T . T4
175.Who is the coach of Indian Cricket Team ?

(1) Gary Kirsten (2) Duncan Fletcher

(3) Michael Maughan (4) Andrew Flintoff

TR Rz S0 % HE R € 2

(1) T BRET (2) TRA TSR

(3) WA HHEA @) T
176.Who is the chairperson of National Human Rights Commission of

India ?

(1) Justice A.H. Ahmadi (2) Justice J.S. Verma

(3) Justice K.G. Balakrishnan {4} Justice B.N. Kripal

I § U TEETFER SR st F € 2
(1) g @, B (2) “few . Tw, gqqi
(3) WY &, S, FEFper (4) wfed & . FI
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177.Who has been awarded Dada Saheb Phalke Award for 2010 :
' (1} K. Balachander (2) Shashi Kapoor
(3) Dharmendra {(4) Kamal Hasan

2010 F1 T TEE Hew [ERR {60 feam w2
(1) . Sere< | (2) ¥ HE
(3) "H= (4) HHA T

178.Who is the Governor of Reserve Bank of India ?

(1) D. Subbarao (2) K.V. Kamath

(3) Deepak M- Satwalekar (4) S. Gapalkrishnan

Rd ¥ =@ o & Ta HE € 2

(1) <. HeaRra (2) HA. FES

(3) <F WH. Fraerera] (4) TH. MIAFDME
179.Who is the President of Palestine ?

(1) Mahmoud Abbas (2} Salam Fayyad

(3) TYasser Arafat (4} Munib al Masri

R % Ouufd #A 8 2

(1) WBHE FeelTd (2) UAH HHAG

(3) TR FTEE (4) TE T WEd
180.Who is going to take over as Chairman of Infosys ?

(1} N.R. Narayan Murthy (2) K.V. Kamath

(3) K. Gopalkrishnan (4) S.D. Sibulal

=TT ¥ s & TEAR FH FE0 B W | § ?

(1) TH. 3. TR qfd (2) . l. HHY

(3) . TUAHEH 4) TwH. €. fagarme
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181. Where did the BRICS ( Brazil, Russia, India, China, South Africa)
leader's meet take place recently ?

(1) Sanya {(2) Moscow (3) Mumbai (4) Beizing

forare (ssitet, ¥4, uRd, <9, <for k) J@el =1 gieH g ¥ el

g a vy

(1) = (2) TR (3) = (4) S
182.Who is the President of Asian Development Bank ?

(1) Haruhiko Kuroda (2} Yashihiko Noda

{3} Christine Lagards {4) Md. Yunus.

uerm fag §% & seet F9 € 2

(1) TEfcH U (2) =fEfgR! el

(3) e @rme (4) TFHE g9
183.Who is the Prime Minister of Australia ?

{1) Angela Merckel (2) Julia Gillard

{3) Stephan Harper (4} Joe Biden

AR & FaAES B € 2
(1) TS mha  (2) o i (3) e g (4) S SEeA

184, What is Al-Quaeda ?
(1) A Political Party of Pakistan
{2) A Terrorist Organization
(3) A Religious Organization
(4) Name of a place in Afghanistan

I-HES H R ?
(1) WFEH & G ToAfas qef (2) T AGHA T3
(3) T wiffe Hsq (4) TR § Th TR HT
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185.Who of the following is not a member of civil society's drafting team’

on Lokpal ?
(1) Arvind Kejriwal (2) Anna Hazare
{3) Kiran Bedi (4) Shantt Bhushan

frefafigd § 9 9 e ST ®Rd % TR 999 91 3R 8 9589 T
272

(1) eRfas Felar (2} I TR

(3) fopeor 3 (4) wifa o
186.Hirakund Dam is built on which river ?

(1} Ganga (2) Krishna (3) Godavart (4) Mahanadi

s e g R R e 2 2

(1) T (2) FW (3) T (4) HEwl
187.In which state is Sardar Sarovar Dam situaed ?

(1) Rajasthan (2) Gujarat

(3} Maharashtra (4} Madhya Pradesh

WER FIR YR e T § R ?

(1) TSEH (2) TR (3) HeERE (4) T
188.Which state in India was formed for the first time on linguitic basis ?

{1} Maharashira {2) Gujarat

(3) Andhra (4) Karnataka

U AR ER W wed U ik Tod o ?

(1) e (2) TEC (3) (4) iH

43 P.T.O.



11P/283/2

189.What is Prashant Nilayam ?
(1) House of Satya Sai Baba
(2) A temple in Kerala
(3) Palace of Nizam of Hyderabad
(4) A Satellite Station

e e = § 2
(1) TF |E & & W (2) TE W TH AR
(3) TeueE & fm & HEw (4) TF AR LIH

190. Where is Vikram Sarabhai Space Center located ?
(1) Tiruvananthapuram (2) Ahmedabad
(3) Cochin (4) Mangalore
fersrm wroad S ¥ el eraitad 8 2 |
(1) foeeqE (2) oUW (3) HEH (4) HTER

191. In which state is Padmanabhaswamy temple situated ?

(1) Kerala (2) Tamil Nadu
- (3) Andhra Pradesh (4) Karnataka
TRETARER wiEt el et 2 2
(1) ¥ (2) dEAE  (3) A WY (4) FARH

192.Zozila Pass connects which one of the following :
(1) Ladakh to Kashmir Valley  (2) Tibet to Arunachal Pradesh

(3) Myanmar to Meghalaya (4) Kohima to Aizawl
shfsren ur (2d) Frfafan & @ feae e @

(1) TEE & FI a9 (2) Tysoq &l FEoTEe WM B
(3) WIHR & Aoerd Q (4) ®IEM TS 9
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193. Which one of the following states did not go to polls recently ?
(1) West Bengal (2) Tamil Nadu (3) Orissa (4] Assam

frafafas ¥ Q- f50 18 4 3@ o wagH & gan ?
(1) dmsm () dHeAg  (3) SNEE (4) STEH

194. Where is Posco Steel Plant located ?
(1} Oressa (2) M.P.
(3) Andhra Pradesh (4) Chattisgarh
tren e e wal i 8 7
(1) efgmm (2) WEDRY (3] oMW We¥ (4) TUER®

195.Who is the President of Afghanistan ?
(1) Hamid Ansari " (2) Hamid Gul
(3) Hamid Karzai (4) Hamid Khan 2

AFMRAA & Ul F:7 8 2 |
(1) ‘a'lﬁ?:amﬁ (2) THIIA (3) wWIR R (4) THS @l

196.Who is the Civil Avian Minister in Government of India ?

(1) Vayalar Ravi (2) Mukul Wasnik
(3) Praful Patel (4) Jaipal Reddy
YR TER T TR® 3597 5t 3 2 2

(1) @R WS (2) P orEfw
(3) A wed (4) I gt

197.Who is the author of the book "Matters of Discretion — An Autobiogra-
phyﬂ ?
(1) 1K Gural (2) Pranab Mukharjee
(3) Somnath Chatterjee (4) Jaswant Singh
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“ Y 3T FEET - UT AT IR S A 2

(1) 3= FI ToRTS (2)  TOTS HEsH
(3} THAR T5H 4} e fE6E
198, Canada went to the polls to elect how many of its members of Parlia-
ment ?
fohe dog = 1 g % fag e § g9 g 2
(1) 433 (2) 350 (3) 320 (4) 308

199.Who was the Chairman of Administrative Reform Commission 11 ?
(1) Justice R.S. Sarkaria {2) Veerappa Moily
(3) C. Rangarajan (4} Prof. A.M. Khusro

TR AR ST 11 % 21698 B o ? |
(1) wfiew ar. s, gl (2) <o Aget

(3) - ¥ CREHA (4) o W TH, THT
200.Who is the Chief Election Commissioner of India ?

{1) Navin Chawla (2) N. Gopalaswamy

(3) S.Y. Kureshi (4) B.B. Tandon

WA % e et SR #h 2

(1) e =mae (2) T TyrEmar

(3) TH g Heh (4) SN, 2ueA
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It & forg fdw
(39 GfaaT & o a0 g8 uT qar IOY-09 @ gl gt uv
e Aoil-wIeh arer-@gz 97 @ 8 W)

. % I e % 10 fee & snt @ 3w o 7w § Wi 7o AiNg € o aE

T¥T BT el 81 T 9 T W W S YERT aone he- e # e gl
TTA9T & gEd JRaE I Rl

. T W T o e wder-uw & ety e A1 W@ i A go w0 W

7 7 7w

Wwam#ﬁwwa‘rs##a?wﬁsﬁvqa?ﬁgaaﬁrmm a7 g1 faar smam
HAET JUV-UF & & Godidd [Har FrEm;

AT AR T IR-TF S FAIR T2 SFO-yE R U9 § Fuffa = w fag)
FH-07 & XYW T G 47 § AT RIS et w9 97 for@ aar i 273 gt &
TET T 31 gI- gl JIYTF g ql We-YfeaET FT FWw a97 W€ ST T&T Ieg @A
T ferg

o WHo HMCo X UV IIHWIH WG, WIIYAT AW & We "ew (qfg Hy g aq
yvIgRamT ot AR 3N Sito W0 Ao UF AT &1 Wialwal ¥ Jufiei@d 1 Igald
T &

. 3 WA ¥ B W R we e G SR g S AT 9 T AR

TG T YANT "M TR

7vT- gfa@r § g ¥97 & = dafcdd I 1 18 1 TRlw v & dafoas T & i
et FY-0F F g GfFe F gred 29 19 39 1 390-97 & 999 g0 a9

e & FIgar 45 @ mEr FET &

TRI% T¥H % I F AU F9¢ T g9 Mel T 0S¥ A9UF g @ WM
R U TF g9 & FYO 9 W 98 I TG /A S

10. &7 & & v @ @l g Sifea 9T 5o 78 97 g &1 e A (&G veT & Fu

7g1 3w wmgd & @ Watha diaw & e 23 T get g 1 @l g1 31 09 e W g
e 13q s

11.76 @14 & o ava-1fiae & Tags $ 37 aen 7o a9 so-JEr % sifay us

W AN &

12. 708N & SR F97 & g7 o IAT-UF T waT H S e )
13. 7091 T B4 | we TR 999 @ qeX AW & SA TE g0
14. mﬁémﬁmﬁaﬁﬁmmmm% 9 o8 farvafouea g fuifa

< H/a, e Srm/ah



	Cover-1
	IMG_0002
	IMG_0003
	IMG_0004
	IMG_0005
	IMG_0006
	IMG_0007
	IMG_0008
	IMG_0009
	IMG_0010
	IMG_0011
	IMG_0012
	IMG_0013
	IMG_0014
	IMG_0015
	IMG_0016
	IMG_0017
	IMG_0018
	IMG_0019
	IMG_0020
	IMG_0021
	IMG_0022
	IMG_0023
	IMG_0024
	IMG_0025
	IMG_0026
	IMG_0027
	IMG_0028
	IMG_0029
	IMG_0030
	IMG_0031
	IMG_0032
	IMG_0033
	IMG_0034
	IMG_0035
	IMG_0035a
	IMG_0037
	IMG_0038
	IMG_0039
	IMG_0040
	IMG_0041
	IMG_0042
	IMG_0043
	IMG_0044
	IMG_0045
	IMG_0046
	Cover-4
	Answer Sheet



